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IVIoduIe-1

a. Find the function (xr, x2, xr,.x*)"fur the threshold
map. ,, 

-..,,i..-''

b. Explain thd'elementary properties. 'il

c. Given the switching funition :

networld:ffiwn in Fig.Ql(a). Show the
,,:::::,:r__ l: (06 Marks)

{(&,t y,'tg,x6

(x1, X2,,'x3, xl = Z(2, 3, 6, 7, 10-,ltr, 14, 15)
Find a minimal threshold logic realization.

elements to be hazaid free. :, .r!!ti:,t-

OR
Explain the concept of threshold logic u#i, prrysical realizatisn.
Determine whether the function :

(xr, xz, *r, d"=,E{0, l, 3, 4,5,6,7,lqr^i3) s!4"1

is a threshold'flir*tion and if it is, find aiweight-ttres.hold vector.
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Module-2
Explain with an example a,,fiutt detection by,path sensitizing method.
r) Find all the static hrr"cards in the cirs&iti.shown in Fig.e3(b). Assume the

(04 Marks)

(10 Marks)

(10 Marks)

(10 Marks)

(10 Marks)
individual

i0 Changing only,i the parameters of the threshold element, redesign the circuit so that all
static hazarO'$'are eliminated. . (10 Marks)
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Fig.Q3(b)
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OR
4 a. Explain the static hazard andhazard free circuits, with exampla

b. Find the minimal sets of fault-detection test ftir AND-OR net*o* function '1,

5a. Find the equivalence partition for the machine sho.wn in Table Q5(a).
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(10 Marks)

i) Show the standard form of
ii) Find a minimum length seq

machine
state A from state B. (10 Marks)

, U$u;ff*." @
Draw the mer68+,g,feph and its minimal fo -ftr the machine in Table Q5(b). Also write its

(10 Marks)merger tablq. x, 
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I c, 1 E, l. t
*:B: 8.0

,r9 c F,0 F, 1

D +,: B. 1

E F,0 A,0 D, I
F c.0 B-0 c. I

Teble.Qs(b) ,..='',

,lr

6 a. For incomplefE[ specified
:/--
wn in Tab1e.Q6(a). Find the minimum state reduced

machinecontainingtheorigin?L@compatibi1itygraph.(10Merkr)M" l'" I r I r I r I ;at .."','L- I lt I lz
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***ardr, tcl-g,- -Tc, o

fDl-B, o-fc, -"tL _ rEl _ TE,o-4'1i"'' . 
*' 

Table'Q6(a)
-# lrll['' r'

b. Apply Bofuil'difference methodto test wire 'h' in the circuit shown in Fig.Q6(b).
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Fig. Q6(b)
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,.;,:,}( # 0 X=1

A ts.t H^t
Bi F. I D. I

:,{le D-0 E. 1

D c.0 F, I
E D. I c, 1

f C, 1 l:l
G C, 1 )tl
H c,0 ,A, I

T a)

(10 Marks)
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The machine shown in Table. Q7 has the:following outputtfuilsistent and input consistent
partitions : ,. .*-;,r 

*
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Io=[A,E,F;B,D; C,Gi

Module-4

PS ".* m' Outout. Z
,.)Cis=l x= I x:0 x= I

4" -.r
C 0 ""ffi*

B-. A F I r*,,17

F E I ,=0
D F E 'J*,+,*, I
E G D -., 

.t
0

F D B -0 0
G E ,"f I 0

.''tIEble. Q7

PS
..=.ltls""*

x j'Gl= ex= I
A ,ti=,E + B
B ,,'ot' kry A
C,'n l;'D A

,%"., C F
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(20 Marks)

(10 Marks)

{P&Bmtu
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(10 Marks)

(10 Marks)
machine shown in

(10 Marks)
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8 a. Forthe,machine given in Table;'ffi6a), determine

'ii1.

iri:.

the ns.Pettice

--:.i, -,ia,

b.
Exptrain.;"
i) Input - consistent
ii) Output consistent
iii) Closed partitions.

PS
NS. Z

x=0 x= I
A c.0 A. I
B D.0 c. I
C B, I D, 1

D c, I A,0
Table.Q9(b)
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-,,,,,,,..,,,:.:-"" =r-.Vloo,rlgi!.,9 a. Explain the Homing experiments with example.
b. Explain the'adaptive diq{ing{iishing experiment by considering the

Table.Q9(b). ,+3***ro;t"
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10 a. Find the shortest floming sequeilce end the shortest synfuonizing sequenced for. the
machine shown'inTabte. Qto(a). s* 

__ffifl (10 Marks)
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x=0 xffi;
A A, 1 .kSF0

B A.8 **9.0

C B* , D. I
D rc*=" c.0
E{ .qc:0 D.0

a

Time tr- rtz-tr tt-ta Ia -{s ts-k to-tt tz-ta
Input sequence {f%;= I I @ I 0 lt
Output sequence ffid 1 0k io I 0 &
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